


c Work out the calculations.

3,690 + 649

r N
\ J
10,000 = 3,284

r N
\ J
0,84 x 8

r N
\ J
332 + Y

r N

\_ J
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e Fill in the missing digits.
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House A is worth £682,000
House B is worth £135,000 less than House A.

How much is House B worth?
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o Complete the addition pyromid

460

Complete the multiplication pyramid
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© o cormpletes the caleulation 247 = 6

The remainder is /

Explain how you know that Mo is incorrect.

r D

\ y
e Pencils are put info packs of 24

There are 3,712 pencils.

How many full packs of pencils can be made?

r )

\ y

How many more pencils are needed fo make another

full pack?
r )
\ y
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e Complete the calculations.

8 x3=Hx

£ 6 =468 = 2

e There are 5 fimes as many pens in box A as in box B.
Teddy moves 82 pens from box A to box B.
Both boxes now have the same number of pens.

How many pens are in box A now?

( N
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9 H boxes have a fotal mass of 300 kg.
2 boxes and 3 bags have a tofal mass of 4l kg

What is the mass of | bag?

( )

\ J
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Answers

& 547000
I

8,000,000

6 Mo is incorrect because you cannot have a remainder
greater than the number you are dividing by.

The remainder is |

O = AUl packs

8 more pencils

@ sx3=4xs6

234 + 6 =468 + I2

9 There are 123 pens in box A now.

@

White
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